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  171   Zvolen - Diviaky 
km

  
 Vlak   7502 

  
 

 7560 
  
 

  7540 
  
 

  7506 
  
 

 7542 
  
 

  7512 
  
 

  7516 
  
 

  Zo stanice          Prievidza   
0 Zvolen os. st. 150,153,160,170      4 25    6 19     

11 Hronská Dúbrava 150,154       4 34    6 28     
 Hronská Dúbrava 150,154      4 35    6 29     

15 Trnavá Hora       4 40    6 34     
20 Stará Kremnička                
26 Bartošova Lehôtka       5 00    6 52     
28 Jastrabá       5 04    6 55     
37 Kremnica       5 15    7 07     
47 Kremnické Bane       5 27    7 19     
52 Turček       5 34    7 26     
57 Horná Štubňa  145       5 40    7 32   9 41   
57 Horná Štubňa  145   4 53  5 19   5 53   6 53  7 53   9 53   11 53 
61 Horná Štubňa zastávka    4 58  5 24   5 58   6 58  7 58   9 58   11 58 
66 Turčianske Teplice 170   5 04  5 29   6 03   7 04  8 03   10 03   12 03 
67 Diviaky 170    5 06  5 31   6 05   7 06  8 05   10 05   12 05 

  Do stanice  Vrútky Vrútky  Vrútky  Vrútky Vrútky  Vrútky  Vrútky 
        Vrútky 170    5 41  6 06   6 41   7 41  8 41   10 41   12 41 

km
  

 Vlak  7518 
  
 

 7520 
  
 

  7522 
  
 

  7544 
  
 

  7546 
  
 

  7528 
  
 

 7548 
  
 

 

  Zo stanice      Zvolen nákl. 
st. 

      

0 Zvolen os. st. 150,153,160,170       14 25   15 26    19 05  
11 Hronská Dúbrava 150,154        14 34   15 35    19 14  

 Hronská Dúbrava 150,154       14 35   15 36    19 15  
15 Trnavá Hora        14 40   15 41    19 20  
20 Stará Kremnička                 
26 Bartošova Lehôtka        14 54   15 54    19 33  
28 Jastrabá        14 57   15 58    19 37  
37 Kremnica        15 09   16 09    19 48  
47 Kremnické Bane        15 20   16 24    19 59  
52 Turček        15 27   16 31    20 06  
57 Horná Štubňa  145        15 33   16 37    20 12  
57 Horná Štubňa  145  12 53  13 53   14 53   15 53   16 53   17 53  20 22  
61 Horná Štubňa zastávka   12 58  13 58   14 58   15 58   16 58   17 58  20 26  
66 Turčianske Teplice 170  13 04  14 03   15 03   16 03   17 04   18 03  20 31  
67 Diviaky 170   13 06  14 05   15 05   16 05   17 06   18 05  20 33  

  Do stanice Vrútky Vrútky  Vrútky  Vrútky  Vrútky  Vrútky Vrútky  
        Vrútky 170   13 41  14 41   15 41   16 41   17 41   18 41  21 08  

 ide v  , nejde 22.XII. - 6.I.  ide v  , nejde 24.XII. - 6.I. a 1.VII. - 1. IX.
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  171   Diviaky - Zvolen  
km

  
 Vlak  7541 

  
 

 7543 
  
 

 7561 
  
 

  7545 
  
 

 7563 
  
 

  7507 
  
 

 7511 
  
 

  7547 
  
 

 5620 
  
 

        Vrútky 170    4 48   5 19  6 50   7 19  9 19   11 19  13 19 
  Zo stanice   Vrútky  Vrútky Vrútky  Vrútky Vrútky  Vrútky Vrútky 

0 Diviaky 170  4 01   5 23   5 54  7 25   7 54  9 54   11 54  13 54 
1 Turčianske Teplice 170  4 04   5 26   5 57  7 28   7 57  9 57   11 57  13 57 
6 Horná Štubňa zastávka   4 09   5 31   6 03  7 34   8 03  10 03   12 03  14 03 

10 Horná Štubňa  145   4 14   5 36   6 07  7 38   8 07  10 07   12 07  14 07 
 Horná Štubňa  145  4 16  5 09    6 12       12 12  14 17 

15 Turček   4 22  5 15    6 18       12 18  
20 Kremnické Bane   4 30  5 30    6 26       12 26  
30 Kremnica   4 42  5 42    6 37       12 37  
39 Jastrabá   4 53  5 53    6 48       12 48  
41 Bartošova Lehôtka   4 56  5 57    6 51       12 51  
47 Stará Kremnička                  
52 Trnavá Hora   5 09  6 09    7 04       13 04  
56 Hronská Dúbrava 150,154   5 14  6 14    7 09       13 09  

 Hronská Dúbrava 150,154  5 15  6 15    7 10       13 10  
67 Zvolen os. st. 150,153,160,170   5 24  6 24    7 19       13 19  

  Do stanice            Prievidza 

km
  

 Vlak  7521 
  
 

 7565 
  
 

 7549 
  
 

  7525 
  
 

 7527 
  
  

  7529 
  
 

 7551 
  
 

  7535 
  
 

 7537 
  
 

        Vrútky 170  14 19  14 52  15 19   16 19  17 19   18 19  19 19   21 19  22 20 
  Zo stanice Vrútky Vrútky Vrútky  Vrútky Vrútky  Vrútky Vrútky  Vrútky Vrútky 

0 Diviaky 170  14 54  15 27  15 54   16 54  17 54   18 54  19 54   21 54  22 55 
1 Turčianske Teplice 170  14 57  15 30  15 57   16 57  17 57   18 57  19 57   21 57  22 58 
6 Horná Štubňa zastávka   15 03  15 35  16 03   17 03  18 03   19 03  20 03   22 03  23 04 

10 Horná Štubňa  145   15 07  15 40  16 07   17 07  18 07   19 07  20 07   22 07  23 08 
 Horná Štubňa  145    16 09       20 14    

15 Turček     16 15       20 20    
20 Kremnické Bane     16 23       20 28    
30 Kremnica     16 34       20 39    
39 Jastrabá     16 45       20 50    
41 Bartošova Lehôtka     16 48       20 53    
47 Stará Kremnička                
52 Trnavá Hora     17 01       21 06    
56 Hronská Dúbrava 150,154     17 06       21 11    

 Hronská Dúbrava 150,154    17 07       21 12    
67 Zvolen os. st. 150,153,160,170     17 16       21 21    

  Do stanice             

 ide v  , nejde 22.XII. - 6.I. 
 ide v  , nejde 24.XII. - 6.I. a 1.VII. - 1. IX. 
 ide v ,  
 nejde v  

 ide v ,  a 18., 22.IV., 4.VII., 31.X., nejde 
19., 21.IV., 5.VII., 1.XI. 

 7527  Vrútky - Horná Štubňa - Prievidza - 
Topoľčany v  a 22.IV., nejde 23. - 30.XII., 
21.IV. 

 7527  Vrútky - Horná Štubňa - Prievidza v  
a 23. - 26., 30.XII., 1.I., 19. - 21.IV., 1., 8.V., 
5.VII., 29.VIII., 1.XI.
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